LABJNDu? triangle lightness T*

T* =L w nc=100,

T*L aganpu7 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=146,T* (18)=332,T*,/(90)=517

log[T*/T*,]=0, m,=0,33

LABJINDu7
tristimulus value difference

Yoc=L*w - nc=100,
T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1+AzY)  Ag=0,017, A4,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019

T*,=332 dY=0,17 dY,/Y,=0,09°5 2
log(dY)=0,17, m;=0,87

a?)plicalion
1 range

log (AY/Y) LABJNDu?7
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A 1Az Y Y

YN=3.6  Yy=90

log (Y/AY)
C,=(Y/AY)

LABJINDu7
tristimulus value contrast
Y=L *w - 6 :n=100,

T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]

*,=332 dY,=0,17, Y,/dY,=101
el o e ob & & O U s
log(Y/dY)=2,00 m,=0,1} « = 1 —_————
7 [ application
1 range
1y,=18

1 Yw=90

Yn=3.6
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LABJINDuU? relative triangle lightness T*/T*,,
Yn=L* w nc=100,

T aganpu7 =[IN[A 17+A2nV)V/(A20A0n)] (Yd/100<Y<=Y,c)
T#n(3,6)=146,T* ,(18)=332.T*y(90)=517

log[T*/T,
L*,~49,T* ;=332

N=36 V=90

LABJNDuUTY relative
tristimulus value difference

Yne=L*w ne=100,
T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
dY/dY =AgnlA 1ntAYI/dY,

log(A Y/AY W)
AYIAY,

a;plicatijn-
range

YN=3.6 . Yw=90

log [(AY/Y) I (AYIY)] LABJINDU? relative

_ tistimulus value sensitivity
SSu=@YMIBYN)y . =\, - =100,
T*LaBINDu7=[IN[(A 10+A2nY)J(A 2nA0n)] (Y/100<Y<=Yc)
@AYIYYAYIY = (A Ao Y)Y (YY),

log[(dY/YY(dY/Y)]=0, m,=-0,11 oo
*,=332 dY,=0,17, dY,/¥,=0,009¢, APelication
1,=18
=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu? relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganpu7 =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
(YVIAYY(YIAY), = (YIYIAY Y)TA onAgrAgr VI (Y/AY),

o m = R
A7 Y /g¥eZur 1 —
2 1 application
1 range
'y,=18
Yy =90

log[(Y/dY)(Y/dY),]=0, m,=0,11
*,=332 dY,=

YN=3.6




